1.

-1<3x+2<5<Yd ), x2 ge] HH=?

D o<x<1 @ -1<x<?2

@ -1<x<1 ® 1<x<?2

1



x= -2, 10,1, 29 W, DAEEA 4- x> 33 o] 57 5
£ L BEF 57

® -2 @ -2, -1 ® -2, -1, 0
@ 2 ®1,2



A<
g E T

i1



@ x=-2E=x=3

)

N

X =—



y = x o Aol Blelsta x = 2 & W,y = 8 o|ek. x o] go] 104
717 373 7V W, y < 3] BV g Tatole,

D L
3%



6. H
BS54
58—
4x <a?] s
O] sfj7F x > 3 o
d ], a 9] 72
= 5k
o

v
z



7.

o]
=

q_

AREA 9 < 20-59} -1 < 20+ 3a] A7} TE ), A 0] 7
tolet.

ot

CF-
e

tlo



8. AHFSAH dx+2<x+8, 9>2x-1 9 8lE Fo1H?

D 2<x<5 @ 2<x<5 ® x>5
@ x<2 ® x<5



bl

A
jo
N
=t

i

o | <

— |

Bx+1.2>0.5x
- - <

0
?*;%—?—%@‘{2
3

X

oln

oy

olJ

ol

@ 3 @1 @0

@ 6






11.

1 _
y:—§x2+q94—7-‘1ﬂ£7]';§ (=2, 1) &= A

Aol HEES FoH)

g, o] 2&

® (0, 3)



12.



13. o] 4 x o] 4 o] 2 S HFk 4= 1 S04 32 W 29| 5w
27 o} 5 Ao el ALY

@® 4x+2<5(x-3) @ 4(x+2)<5(x-3)

® 4(x+2)>5(x-3) @ 4x+225x-3

® 4x+2<5(x-3)



17} obd 7122

S

3x—4<29]

@ 1 ® 2

® 0



15.

re
o

7t -3<x<4d W, a2



7t &4

el

0
=0

H}Z

% ol%

o
=

16. tt

2 (59)

® (x-1)2+(x-2)22=(x-3)?2—x

@
®

<t
o H
(ap)
I
= Il
B
oot
— | B
_ L
[
[
= el
q (an)
_
— 2x
I enea o
(o]
= Il
_ —
= Al
N
=
— —
— [a\]
[ [
= =
S— S~—

— ™Mo



x of] TRt oA H A ax? — px —ap — 3q = 0 ©] a & Lol A glo]

17.

s

27

=7, p+q 2 3%

i

® 2

1



18.

O| AL A 222 —6x -1 =02 TS A, x® +4x-12=0 ¢
= B2l & o, th&= 5ozt

A%? - 3A+ B>+ 4B

=



19.

|y

T

o]
=

O|ZAFFAA 242 + x+a=0,4x2 +bx-18 =09 &
W, a+b ] F& Ffolek

&=
=%

of



20. xof T oA ¥ 4+ 2x+6-m=0°] TZ= 7HE W, m
W 2w o] siE F-okei et



el
Tol

@1 @ 2 ® 6

@ 0



22. T 19e AAAE y = av+b O Texoleh, o}
y=ax*>+b 9 1HZ=?

ylk
N
9 N7
) @
Y Y
%74 /
o <z
® @
Y Y
(0] 5
x
710%33 / \
®
Y




® y= -§x294 e me} v 2o hafA iAol
@® 2= ¢ o] Zrofl i3l y > 0]},

® x>0 ), x9] Fo] F7H5H y o] Zhe FATE



® 2x+1=5

@ 4x-3

® -5a+2

® 3a=6

@ 6>3



25. a<b W, b5 T FeotEY ALY
O a+d<bt4 @ -5+a<-5+b
11
® 3a-1<3b-1 @g“<gb

® -3a<-3b



